58 2 MRR TEUE (A9 2573)

chel ME, &, %, $/kc

~o am 15 58l (Ed) SHE(EE) 154 58 (5H) sas(FH) TZEIHEA)
= ke =% | Y = e =% | S | 144 s

A 1,204,104 213,592 -14.8| -6.6 5,939,105 1,095,850 | -10.7 | -3.8 5.84 5.42

1 [HEY 243,507 25,5531 -8.5 -8.3 1,056,980 120,422 -3.7| -3.1 8.83 8.78
2 |3 182,630 25,036] -19.3| -11.4 884,059 123,541 | -14.5| -9.8 7.55 7.16
3 (o= 113,188 23,886] -3.5 15.8 571,942 121,132 -0.7 12.2 5.33 4.72
4 |2lz=UlAlo} 93,708 11,877] -23.3| -19.4 499,700 62,589 | -13.5| -12.3 8.10 7.98
5 |€&2 59,410 7,749y -17.9| -11.5 327,585 42,737 | -148| -7.8 8.29 7.67
6 |22 45179 5,042 -9.2 -5.8 232,212 25,633 -8.6| -5.0 9.42 9.06
7 |otEtollo|z|E odgt 40,067 5,777y -1.0 -6.4 188,199 27,249 -3.0| -9.8 6.42 6.91
8 |HelH 22,595 5,057 —24.4 -8.7 120,890 23,639 | -12.6| -10.1 5.26 5.11
9 |Zt=EC|ot 21,438 5,875 1.1 -6.9 111,488 29,104 1.2| -13.8 3.26 3.83
10 |E{7| 19,697 4,971} -25.8| -15.2 115,238 29,041 -8.7| -3.4 4.20 3.97
11 (=54 17,837 5,754 -13.4 5.3 90,592 30,551 | -23.7| -12.8 3.39 2.97
12 |AFRC|ot2td| o} 16,990 2,628] -32.5| -26.9 88,970 12,429 | -27.9| -18.3 8.11 7.16
13 |o|eko} 16,782 1,035] -23.6| -23.7 58,905 4343 | -12.2 -4.8 14.72 13.56
14 |22 2H Al 16,408 2,628] -6.0| -10.8 87,023 13,388 -1.3 -0.4 6.56 6.50
15 |Ef= 15,786 3,626] -5.9 3.3 82,200 19,365 —4.4 9.9 4.88 4.24
16 [O|Ete|of 15,153 4.118) -22.7 -8.1 83,088 26,476 | -18.0 2.5 3.93 3.14
17 |el=(elc|o}) 13,398 5,486] -0.8 -2.6 63,227 25,397 5.0 1.5 2.41 2.49
18 (H= 12,714 3,197} -12.3| -13.9 62,979 18,407 | -20.7 | -16.6 3.60 3.42
19 |cHat 12,312 2,432 -6.8 -0.9 63,344 12,359 -7.0| -2.2 5.39 5.13
20 |=Z2A 12,219 1,978] -30.7 1.8 64,169 10,916 | -27.4| -4.6 7.72 5.88
21 |HAl= 11,880 2,738] 10.8 56.4 61,809 13,531 6.4 20.8 5.18 4.57
22 |Am el 11,747 2,464} -26.2| -15.8 53,837 13,852 | -15.8| -0.5 4.59 3.89
23 |2{Alot 9,931 2,514} -35.1| -23.2 50,478 13,871 | -35.8| -13.5 4.90 3.64
24 |20 Ao} 9,193 3,597} -23.7| -25.1 51,704 23,354 -4.8 7.7 2.50 2.21
25 |22 8,912 2,154 -42.3| -42.9 47,871 12,997 | -22.3| -12.2 4.16 3.68




58 I Mi&F T4y (A¢ 2571=)
~o an 15 5 ) SUE(EE) 154 5 ()

— - =X =2 =N Sg = =2
= 886,217 135,181 -4.7 1.8 5,456,460 694,842
1 |15= 445,829 71,148 -5.9 2.6 2,468,162 350,674
2 |HIEH 115,163 16,473 4.0 9.3 949,582 92,146
3 |el=udlAlof 45,009 10,021 9.2 24.2 301,019 47,615
4 |O|E2|ot 36,738 524 -1.2] -12.3 210,702 2,753
5 |9lE(elc|o}) 30,786 8,680 4.7 15.1 174,325 45,249
6 |22 29,554 6,092 | -12.0 4.9 156,195 28,113
7 o= 24,337 2,567 | —21.5 -8.3 135,371 13,550
8 |Z2A 18,902 80 -3.6| -22.0 99,763 659
9 |Ei= 16,357 3,574 -8.1| -15.5 93,287 21,131
gk = 20| A 11,139 1,170 | -14.8 0.8 95,331 6,588
cf ot 10,651 2,139 0.5 -9.8 51,316 10,641
uf7| A e 9,905 2,637 -8.1 -2.8 55,444 13,684
ofQtof 9,052 401 | —29.1| -23.5 144,085 5,654
Zaf o] Al o} 8,822 4,235 | -37.6| —29.6 52,538 23,870
22 H 6,688 449 27.2 -2.4 45,547 2,921
Zt=jof 6,203 260 16.2 16.8 57,320 2,158
= 6,141 484 0.4 6.8 32,938 2,570
E{7| 5,769 245 10.7 26.5 33,564 1,556
A ¢l 5,534 120 13.1 62.5 25,987 487
o= 3,738 241 -2.2| -16.1 24,214 1,471
A EZ|o} 3,590 1,309 | -37.8| -30.7 23,092 8,289
HEete 3,483 161 20.6 | —11.2 16,153 872
=5z 3,052 69 24.7 50.1 19,511 365
A2 27} 2,876 396 | -13.6| —-10.2 20,681 1,894
AN 2,817 74 | -13.5 -1.5 17,702 479




